oy

2715

Compact
Self-adjusting

Hydraulic cushioning units

Self-adjusting shock absorbers

Type YSR-...-C

FESTO

Designed to provide progressive deceleration of rapidly
moving masses, these shock absorbers can reduce
machine cycle times by allowing higher velocities to be
safely utilised. This unit automatically adjusts the
cushioning to the impact force.

Accessories:

Mounting flange
% Type YSRF + piston dia. + C

Mounting flange

with on stop sleeve

to accept sensors Type SIEN-M8
Type YSRF-S + piston dia. + C

@ Piston diameters from 5 to 32 mm

@ Stroke lengths from 5 to 60 mm
@ Integral spring reset

Cross-section

Troe YSR- | YSR- | YSR- | YSR- | YSR- | YSR- | YSR- | YSR-
¥ 55-C | 7-5-C | 8-8-C |12-12-C|16-20-C|20-25-C|25-40-C|32-60-C
Pision dia.

o 5 7 8 2 ] 16 2 | 5 | 3
Stroke

lengthmm | 5 5 8 21 2 | 5 | 4 | 6
Max.

cushioning

work 1 2 3 10 | 3 | 60 | 160 | 380
per stroke J

m‘;‘&tmg M8X1 | M10X1 | M12x1 | M16x1 {M22x15|M26x 15\M30x 15|M37 x 15
Max.

eSO 20 | a0 | 500 | 1000 | 2000 | 3000 | 4000 | eooo
N

Software package to assist selection of optimum shock

absorber

Part No. 128 511 (Windows 3.1 or later)

How to order: Select required cushioning work per stroke
and specify cylinder dia.

Example: Work per stroke 30 J, 16 mm piston dia.,
20 mm stroke length = YSR-16-20-C

For more information contact Festo

For dimensions see page D.11/30

C.12/11




N V . L] -
Dimensions Cylinder Accessories %ﬂ
D1
KSG-... KK Bi{B2{B3|BaiDi|D2] Os [Da|Hi|[H [T T | T2
‘ ! olo|lo|o
1. 7] K= ,Erf Hi Hs [His
S M 771 R L ¥ KSG-32 M10x1.25160(37]36]23]2030] 66[11]24[15]17] 7] 7
taf K| KSG-40 M12x1.25 | 60 |56 |42 38| 25]40] O [15]30]20|19] 8] ©
o2 | KSG-50/63 M16x1.5 | 80|80 |58]56]30]50]|11 |18]32[20]24] 9]11
; = KSG-80/100 M20x1.5 | 9090 65|65]40]60]14 |20135]20136]70]13 |
38 @,.»WM.\“.// KSG-125 M27x2__ | 9090 65|65]40]60|14 |20]35]20136]10]13 !
e —~ % N
o T\ R |
1 \\J} H ©f @ ;
172 NN
N
B3
Bt
KSZ-... o
— T KK Bi|B2{B3|{Be|D1|D2fDs|Hi|[H|TITI TW | 2Z
11 e R I o|o|o 2
ehete KK
s z KSZ-M6 3 30|25[20[15]12|18]55]16] 8110/ 21395]8
- = KSZ-M8 M8 35]30125[20]14[20([55(22| 8[13]-|3.95] -
R o — KSZ-M10x1.25_ | M10x1.25 | 40[35]30]25]17]26155]20110 15| = 15.05] =
H7A0 KSZ-M12x1.25 | M12x1.95 |50]40|40]30]17126(55122|12115] 1595 -
wL HoH-1 3 KSZ-M16x1.5 M16x1.5 | 6045|4833 |22|34]6.6]25(12[19] - [6.95] -
o KSZ-M20x1.5 M20x1.5 |72|50]57]35]|30] 449 32115271 -18.95] -
B3
B1
YSR-8-8-B < g . . Buffer -
g
BEjigtem
BRI
77
YDR-... o ? lj_] [QL o B D 00D L L] G| L || U ]S %s
- 6
YSR-... * _ i n
& 13 4 2 5[M15x1 | 6 12|M4[119]18] 36| 52.5| 5] 3[10 | 6]19]2
= s [ﬁ] 16 6|M20x1.25] 8]16|M5[151[28] 53] 62.5] 5| 5/13.5| 8|24|2.5
© L3 Le Ls 20 8|M24x1.25|10]20|M6|174135] 60] 72.5] 6] 6|17 |10130]|3
L2 L 25 10{M30x1.5 | 12]25]M8][227]52] 80| 89.8] 9]10]20.5|12|36]4
32 12]M37x1.5 |15[32[M8[275]|75]108]106.313] 1526 |15]46]4
YSRP-. .. < (] Cushioning adjustment
Qil reservoir
g A . Qil filler
s [@ - less cushioning
D4 + more cushioning
e L8 (6] Polyurethane panel
YSR-...-C B3 <1 B1 Dy D2 | Da| Ds Lt { L2 | Ls | La Ls |,
o H o|lo| @
8 (& YSR-55-C 3 | M8 25| 5] 66] 29] 19]10.8] 55] 58] 10
= U YSR-7-5-C 35] Miox1 3| 6] 86| 34| 23]12.3] 7 | 7.3] 13
= o YSR-8-8-C 4 Mi2xi 4] 8[105] 46| 33]16.3] 8 | 8.3 15
YSR-12-12-C 5 | Mi6x1 612145 64| 51]24.5]12 |12.5] 19
:ﬁ YSR-16-20-C 6 | M22xi5 | 81620 | 85] 691365|16 |165] 27
YSR-20-25-C 8 | M26x15 |10 20|24 | 104 | 87|455(20 [20.5] 32
I :F{ YSA-25-40-C 10| M30x15 [ 1225128 | 152]125/61.5|205]21.5] 36
s YSR-32-60-C 12 | M37x15 [ 15| 32 |35 | 207 [179]87 |26 |27 |46

D.11/30




